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ex.

Interface Human {
public void eat();

}

class Father implements Human {
public void eat() {

"HO| H=L

}

}

class Mother implements Human {
public void eat() {

"HA H=0

}

}

class Son implements Human {
public void eat() {

"HFo| H=L"

}

}
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ex. CHE S A A HAEH Otx|= Ha0|X[2H CHE SHANM EH2 ol 12 8R
private int money = 1000;

public int account() {

return money;

}

*Static: T2 oM M H20| 7tsE
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ex.
MUES AIEolX| Y= 82

ArrayList arrayList = new ArrayList();
arrayList.add("fast");

String data = (String)arrayList.get(0);
*(String) -> String 2 2 FHESICH= 2|0|

HUES A 8ol= B9

ArrayList arrayList = new ArrayList<String>();

arrayList.add("fast");

String data = arrayList.get(0);

*<String> -> ArrayList0l S0{Z &= = HI0|E 2] Et S String2 2 X|H
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